Whitman College

Econ 358

Final Exam

May 8, 2008

Write all answers in your blue book.  Show all of your work.  The exam ends at 4pm.

1. (4pts)  List the four functions of financial markets described in class.

(b)  (2pts)  What are the two basic types of financial claims?  Give an example of each.

(c)  (4pts)  Define a derivative and give an example of one.  

(d)  (5pts) Consider FIASCO: The Inside Story of a Wall Street Trader, 1999, by Frank Partnoy. According to Partnoy, how did Orange County and San Diego County’s use of derivatives illustrate the  “twilight zone of investment banking”?

2.  Consider a world with no risk in which the market interest rate is 6.0%.  Suppose that the government issues a 5-year Treasury note with a face value of $1000 that makes five annual coupon payments of $50 each.  The first coupon payment comes one year after the Treasury issues the note. 

(a)  (5pts)  What is the note’s equilibrium price when issued?

Suppose that the note’s owner, Andrew, collects the first coupon payment and immediately offers the note for sale.

(b)  (10pts) What is the equilibrium price of the Treasury note that Andrew is offering?

(c)  (10pts)  Consider someone who is contemplating buying the note Andrew is offering.  If she instead spent the same amount on a perpetuity, what stream of annual payments would she get?

3.  (30pts)  Suppose the Seattle Mariners have a rookie player to whom they have paid a $4 million signing bonus.  They are now considering offering him a long-term contract in order to buy out his eligibility for salary arbitration.  The contract would give him a constant annual salary for six years, starting next year.  The rookie has a 40% chance of become a superstar, a 40% chance of being mediocre and a 20% change of being injured.  If he becomes a superstar, his value to the team would be $10 million per year for the first three years and $20 million per year for the next three years.  If he becomes mediocre his value would be $3 million per year for the six years.  If he becomes injured, he would have no value to the team, although the team would still have to pay him the amount specified in the contract.  Suppose that the team’s owner is risk neutral.   The market interest rate is six percent.  What is the highest annual salary the team would be willing to offer?

4.  Consider two stocks.  Stock A has an expected return of 12% and a standard deviation of 25%.  Stock B has an expected return of 5% and a standard deviation of 14%.  The correlation between the two stocks is 0.30.   

(a)  (10pts)  Would combining these two stocks provide a diversification effect?  Explain how you can tell, and refer to a definition of the diversification effect in your explanation.

(b)  (10pts)  Write the equation for the variance of a portfolio composed of these two stocks.  Be as explicit as possible in your equation.

(c)  (10pts)  Explain how to use the equation from part (b) to find the minimum variance portfolio of A and B.  You do not need to actually find the minimum variance portfolio, but you do need to explain each of the steps.

5.  For parts (a)-(d) below, suppose that the Capital Asset Pricing Model assumptions hold, and consider the following information. 

The variance of the market portfolio is 0.10.

The expected return of the market portfolio is 0.15.

The risk-free rate is 0.05.

Security A has an expected return of 0.02

(a)  (15pts)  Graph the Capital Market Line.  Can you tell exactly where Security A is on this graph?  If so, include it in your graph.  If not, explain why you cannot tell.

 (b) (15pts)  Graph the Security Market Line.  Can you tell exactly where Security A is on this graph?  If so, include it in your graph.  If not, explain why you cannot tell.

(c)  (10pts)  What is the covariance of Security A with the market portfolio?   

(d)  (10pts)  True or false?  No one actually buys Security A, because it has a lower expected return than people can get by making risk-free loans.  Explain your answer.   

6.  (a)  (10pts)  Define each of the forms of the Efficient Market Hypothesis (EMH).

Exxon announced record profits last week.  Its stock price fell immediately after the announcement.  

(b)  (15pts)  Does this information about Exxon’s stock price help support or refute any of the forms of the EMH?  Explain your answer.

7. In answering the questions below, keep in mind that a proposition is a statement that if certain assumptions hold, then certain conclusions follow.

(a)  (5pts)  State Modigliani-Miller Proposition I. 

(b)  (5pts)  State Modigliani-Miller Proposition II. 

(c)  (15pts) Consider each of the Modigliani-Miller assumptions individually.  If that assumption does not hold, explain what happens to the conclusions in Modigliani-Miller Propositions I and II.
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